S x F£ 8AE WHLEEEVOEBERUKE

1. PESEBETEY) (BT : Ton]

H A 1547 257 At B &
MJE 15.0 0.0 15.0
BETTATF v 409.6 83.2 492.8
NI 207.1 11.4 218.5
J5E 0.0 582.8 582.8
i) 0.2 0.0 0.2
BET LAY 0.0 613.8 613.8
JrE R 0.0 9.0 9.0
151 810.6 256.8 1,067.4
&JE BT A)E 0.0 8.5 8.5
EULTEY/NEy5 30 N 30.0 0.0 30.0
= #t 1,472.5 1,565.3 3,037.8
2. FERIE B PEEBETEY) [HAA7: Ton]
HOH 1547 257 it w &
1512 0.0 0.0 0.0
15 e - Hi 38 % 0.0 0.0 0.0
P 0.0 279.0 279.0
JEH - i R 5R 0.0 6.3 6.3
Pl 0.0 75.5 75.5
PERE - 3 R 0.0 0.7 0.7
BET VA 0.0 66.0 66.0
BET VAV <M FE R 0.0 7.1 7.1
IR BEHEN) 0.0 4.1 4.1
= G 0.0 438.8 438.8
3,476.58
3. BEANK ALy & [EAAZ: Ton]
HOH UBES =y w &
HENT 0.0
AL 284.2
Gt 284.2
A H ARV AZVFE: 100.0 %
SEBEREAKVAZ/VE: 100.0 %




